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NEEEEEL
oOtM E 2t
Hsus s4 I (chel:&&)
8- 2H - ZE-G(3H) - HRAY - B2 0l &b o HI RS2
O&JINsx S8 2el 84
o RS 7,000 1200 & 84
O=E XL HEHE M AHE AIAE RAE
1,700,000& 1,700
202 o4 Bl 13,500 13,500 0
01 2 LHOA HI 13,500 13,500 0
FEXNHESE HRFE WU 13,500, 000& 13,500
FIHAIE 22l 73,250 332,169 A 258,919
101 @124 4| 32,998 44,169 A11,171
04 JI2ZtHIZ22 S E=> 32,998 44,169 A11,171
OEXNF=XE 223 =Y 32,998
oJlE=a 48,240 x2H %274 26,436
o m=5¢¥g 48,2403 x2H 53 5,114
o UXtRExd 48,2403 x2H x152 1,448
201 LEH2HHI 5,252 5,000 252
01 At 22l dl 5,000 5,000 0
OFXNF=XE M2 &HH dX= 100,000 «40CH 4,000
OXF=XE 22l =23 1,000, 000& 1,000
02 3322l 252 0 252
O=4d 24 8EF=1E dIIR=s
21,0003 =10 A 1200 & 252
401 Al EHI L 2 OHYI 35,000 283,000 A 248,000
01 A& Hl 35,000 283,000 A 248,000
OZ3SF=XE AMEs 84X & Jl 5,000, 000& 5,000
OBYEFXE FIA T M (25002) 20,000, 000& 20,000
OZ&X 22 PEFUNE X4 2,500,000 x4 2 10,000
= 38X &2 59,361 58,157 1,204
101 1244l 16,741 15,537 1,204
04 JIZtH22NHSES 16,741 15,537 1,204
OO0t SHFEXN 53 RY 15,293
oJdlE=2 24,1203 x2H 249 12,012
o m=25< 24,1203 x2H 53 2,557
o UXtREF¢Y 24,1202 x2H x 15 724
OOt =8FEX HER3 EAS
24,120 *30 *(730L /365 )+ 1 1,448
201 L Bt2 F Hl 40,620 40,620 0
02 22242l 40,620 40,620 0
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Hsus s4 I (=&
8- 2H - ZE-G(3H) - HRAY - B2 0l &b o HI RS2
OXt&td| 8,620
o H&EXY SFU 1,100 *3502| Ef x 1CH* 1200 & 4,620
o Et=xtg | X4 250,000 *2CH 83| 4,000
OAE EHI R XY 32,000
o EYEFAEXN HETHI(LFE) AL
1,000,000 * 137 A %23 26,000
o EYFEX HEFHI(0ISE) B2l
1,000,000 «1CH *43] 4,000
o SEHFIEI UEFHI(HEH Z20Y) |2
1,000,000& 241 x13] 2,000
401 Al EHI L 2 THYI 2,000 2,000 0
01 Al£Hl 2,000 2,000 0
OuUsSHEEXNE X & Hl 200,000 =104 & 2,000
0l 5l Hi 593,521 45,037 548,484
801 oil di H 593,521 45,037 548,484
01 Btollglgl 593,521 45,037 548,484
ooyl gl 593,521,000& 593,521
HY2IZH (S Z ) 55,816 52,636 3,180
A2 (=22 SE3H) 55,816 52,636 3,180
QI 24l 55,816 52,636 3,180
101 @124 4l 55,816 52,636 3,180
03 RIAHL2ZZXNE S 55,816 52,636 3,180
OFxetEe o2 55,816
oJlE=a 1,341,360& »2H 12& 32,193
o JlZ=¢ 1,541,360% »2H »43] 12,331
o Mg AlH| 130,000& 2% x123] 3,120
o WS E X 70,0003 x2H x123] 1,680
o Alztel==¢ 6,350 1.5« 10A| 2t+2H x 1200 3 2,286
o BEFJItHI 670,680 x2H x23| 2,683
o HIJtE &tH| 50,7502 x2H x 15 1,523
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peicT T4 U 29 CCET
8- RA - BH - S(SH) - KNTAY - BYS Ol &t o o H D=2
2 Al 2t 1,779,718 2,216,718 A 437,000
H@X =4 & 2g 1,779,718 2,216,718 A 437,000
AT BN L 2 (ML LAY SE3H) 1,779,718 2,216,718 A 437,000
ACHAMATHR =4 100,000 100,000 0
401 Al & HI 2 2 0HYI 100,000 100,000 0
01 A& Hl 99, 100 99, 100 0
OLerM AR RAE= 99, 100
o LBHAAET] JIBAIE RXIE4 99,100,000 99,100
03 A& 2C0HYI 900 900 0
OLBHAATT JIEAIE R 900
o LEIMAEX JIBAIE RANES
100,000, 000& *0.90% 900
A (s3)EX 2el 88,400 85,400 3,000
101 @124 i 10,800 10,800 0
04 JI2tHIZ22HSE=> 10,800 10,800 0
Ot (s3) X &2 =2
100,000 »2 & 3L x6IH A x33] 10,800
201 LEr2 | 77,600 74,600 3,000
02 =3=29d4l 77,600 74,600 3,000
Ottt (s3)2 X AlE&Hl KX 20,000
o AHEX 5,000,000% *1JH A 5,000
o s32EX 3,000,000& *5H 4 15,000
Ou(=3)HR Xiote tHaX&EL ¥ AS
3,000, 000& 24 A %23 12,000
Ot (=3)HX 2SS &II22 3,800,000 128 45,600
S3EX ZHAY 3,600 1,003,600 A 1,000,000
202 o4 1l 3,600 3,600 0
01 =2 LHO HI 3,600 3,600 0
Os3HX gd2F& oyl 3,600, 000& 3,600
M (=) JIBHAIE HHI 960,000 400,000 560,000
401 Al EHI 2 2O HI 960,000 400,000 560,000
01 A& Hl 953,088 397,660 555,428
L2s3HN MESERA HEF=AY
198,560,000 14! 198,560
OAmE JIged HEMd 555,968,000& =14 555,968
Os3HX ANd=s X2l (61L)
198,560,000 *14] 198,560
03 Al 201l 6,912 2,340 4,572




8- 2A - BE - HA(SH) - MEAY - HYS Of o8 e 52
OL==s3HX MEESA HEFAY
200,000,000& x0.72% 1,440
OAn2 JIgsed Hasy 560,000,000& x0.72% 4,032
Os3HX AEE sX22(6MA)
200,000,000 x0.72% 1,440
ol Bl bl 627,718 627,718
801 oil 5l dl 627,718 627,718
01 BroilBlgl 627,718 627,718
(@Ju()=§:]! 627,718,000 627,718
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2016E1 & =0l &t JIEHS S
FIRNG|: MHAMPRAT
2 N =MsRD
¥ o oge 2 pel ECHE
LIRS - 2N - BH -2 (F) - MEAMY - BES Oll &4 Oaﬂgi HnE2
=2 D) 4,164,718 4,181,250 A 16,532
p] 4,064,529
z 100, 189
e 2 ze 429,915 1,566,954 ~ 1,137,089
p] 350,726
z 79,189
BIXBAY =X (+EIME SH3IH) 429,915 1,566,954 ~ 1,137,089
b 350,726
= 79,189
ZOX AL X2 18,745 17,417 1,328
p] 13,756
= 4,989
101 121 4] 15,245 14,197 1,048
p] 11,507
z 3,738
04 JAH2R2NSES 15,245 14,197 1,048
OFOIXAANY ARLE 029 15,245
0 Jl=a 48,2402 *1% x249L 12,012
p] 9,322
2 2,690
0 235 48,2402 %1% #522 2,509
p] 2,185
z 324
0 SARIEI 48,2402 +1 & 152 724
202 04 1l 3,500 3,220 280
p] 2,249
= 1,251
01 2018l 3,500 3,220 280
OFOIXAANY HRFX 3,500,0008! 3,500
p] 2,249
= 1,251
+2QY BT 76,970 152,072 AT5,102
p] 76,970
207 &4 2K LI 76,970 123,500 A 46,530
b 76,970
01 ARl 76,970 123,500 46,530




IR AHHL PR
2N SMEHY
¥ Moo 2 e (o9& e
RS - A - FEH - GA(SH) - HRAY - BYS 0l &b o HI RS2
OggAd 2LIHEY 84 24,720,000& 24,720
J| 24,720
O=Zzszae| A#HE oldEI} 8(H13])
52,250,000& 52,250
Il 52,250
SsdFH ASSH 260,000 1,392,302 A 1,132,302
Jl 260,000
401 Al EHI L 2 THYI 260,000 1,392,302 21,132,302
J| 260,000
01 A& HI 258,128 1,386,353 21,128,225
O5sY FEUXNAAE 258, 128,000& 258,128
J| 258,128
03 Al & 20HYI 1,872 5,949 N4, 077
O5EY FEUXAAZ 260,000,000 x0.72% 1,872
Jl 1,872
ol Bl bl 74,200 5,163 69,037
801 Ol bl H 74,200 5,163 69,037
01 Broilelgl 74,200 5,163 69,037
(©Ju(}=§:]! 74,200,000& 74,200
HRas(=sMa20) 3,734,803 2,614,296 1,120,507
J| 3,713,803
= 21,000
HWEAHHX S (+EME SEIAH) 3,713,803 2,569,096 1,144,707
J| 3,713,803
ot BJ1H EE3H dE= 2,475,866 2,569,096 /93,230
J| 2,475,866
701 DBt HSHEES 2,475,866 2,569,096 293,230
J| 2,475,866
02 BIIHEEIHIANEES 139,708 135,200 4,508
O&===SIHSE3H 8&=3 139,708, 000& 139,708
J| 139,708
03 SIIHSEHN=2EES 2,336, 158 2,433,896 AQ7,738
Oct=ESIIESE3AH H2dE 2,336,158,000& 2,336, 158
J| 2,336, 158
LESIHEES 1,237,937 0 1,237,937
J| 1,237,937
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N & 0 & & E M A
20169 = =204 JIEISE3 A
-EFELET
A3
FE PRI chol @)
8- 2H - ZE-G(3H) - HRAY - B2 0l &b o HI RS2
703,870 810,000 A 106,130
HFEX S FH 703,870 810,000 A 106,130
SEUFEHIS XA (HFHINSXNAAYG SE3H) 703,870 810,000 A 106,130
SAE=EIY X2 703,870 810,000 A 106,130
401 Al EHI & 2O Y| 703,870 810,000 A 106,130
01 A& HI 699,435 804,897 A 105,462
OgdEHFHIG XA 699,435,000 699,435
03 AIZ 201l 4,435 5,103 A 668
OEdEFTHING XA 703,870,000& =0.63% 4,435
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E 0 & MY E A A
20169 = =204 JIEISE3 A
NEEEEEL
SEANA=SH
T Al 2tel
_ - _ — SHE|
8- RA - BH - S(SH) - KNTAY - BYS Ol &t o i
SAIA=Dt 35,000 35,000
22| 35,000 35,000
JIBFAIE 2 XI0HLY (D1 BFAIE A 35,000 35,000
EtAIE S XI0HS 35,000 35,000
401 Al & HI 2 2 0HYI 35,000 35,000
01 A& Hl 35,000 35,000
OJIBtAIE EXI0H 35,000, 000& 35,000




Al Ol & A & H Ml M
20169 = =204 JIEISE3 A
FE2: MHALR RS
M A¥zZsI=4dH
¥ oM sum)|3 X4, 29 (69l @
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
HEZ=HIs4H 18,281,528 18,272,500 9,028
sZLEIIS =4, 29 18,281,528 18,272,500 9,028
sEEII2 4. 2Z (=Y SgslH) 18,281,528 18,272,500 9,028
=gl 29 123,540 153,540 A 30,000
201 L EL2 | 2,100 2,100 0
01 At 2teltl 2,100 2,100 0
OsgYdIIa |33 70,0003 *10H 33| 2,100
202 04 8l 1,440 1,440 0
01 =Ll 1,440 1,440 0
OMPFE AEHZAF O] 20,000& »72& 1,440
307 glz2tol & 120,000 150,000 /30,000
08 OIXMtENS 120,000 150,000 A 30,000
OO0l E2EdZ K& 120,000, 000& 120,000
sgedIIg B 14,500,000 14,000, 000 500,000
706 JIEtLH S 1 cH 14,500, 000 14,000,000 500,000
03 Mg 3 14,500,000 14,000, 000 500,000
OXg= 14,500,000, 000& 14,500, 000
ol Bl bl 557,988 1,018,960 A 460,972
801 Ol Bl HI 557,988 1,018,960 A 460,972
01 &etalblbl 557,988 1,018,960 A 460,972
(©Ju(}=§:]! 557,988,000& 557,988
sPLEII= X 3,000,000 3,000,000 0
501 8 Xt= 3,000,000 3,000,000 0
01 eItsXt= 3,000,000 3,000,000 0
O=g3gdEII=z 83 3,000,000, 000& 3,000,000
FOUH 58 S2AY 100,000 100,000 0
402 QIZ2t 201 & 100,000 100,000 0
01 QI 2AEE X 100,000 100,000 0
O=x2He =8 S2A 100,000, 000& 100,000




